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int[] find roads(int n, int[] u, int[] V)

e n: EA|9] Fj4e0lt,
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int count common roads (int[] r)

o 7137 — 181 wolek. o] wjo] B [l S0 A olok Tk, (4 £ AL AT ¢
o)
o ol G5 rol AHE 25 % Fo] 2 A5 A4S P
Example

find roads(4, [0, 0, O, 1, 1, 21, [1, 2, 3, 2, 3, 31)

find_roads(...) count_common_roads ([0, 1, 2]) =2 count_common_roads([5, 1, 0]) =3

o] oflelli= 47 9] Aot 67]9] o] k. F A at bE AASE A& (a,b) 2 EAATH AS2 o=
*/ﬂi ORI2E] 5¥I7k2] M5 7t £of glet: (0,1), (0,2), (0,3), (1,2), (1,3), (2,3). BE = H&

< n—1=37° 4d& Zasirt.

20,1,59(F, 2 (0,1) ,(0,2), (2,3))°] Fe] AEol1, 20| th-30] $EES FPsHe H¢-E

® count common roads ([0, 1 1) -
(0,1),(0,2), (0, 3¢l ) 2= ZAeld], o]
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Constraints

e 2<n <500
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n—1<m<n(n-1)/2
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Subtasks

(13 points) n < 7, ¢ = 30000

(17 points) n < 50, ¢ = 30000

(21 points) n < 240, ¢ = 30000

(19 points) ¢ = 12000°]17, 2= 2] EAE A4 Adst= do] A
(30 points) ¢ = 8000
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e linel: n m
e line2+i(BE0<i<m—1: uli] ofi
e line2+m: s[0] s[1] ... s[n— 2]
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Technical note
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